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Find the measures of center and variation
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Find and use the sum of the measures of the interior angles of a polygon
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Find and use the sum of the measures of the exterior angles of a polygon
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Recognize and apply the properties of the sides and angles of parallelograms
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Recognize and apply properties of rectangles
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Recognize and apply the properties of trapezoids, including the medians of trapezoids
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Recognize and apply the properties of kites
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Write sets in 3 different ways
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Categorize sets as finite and infinite
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Specify if two sets are equal or equivalent
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Find the number of elements in sets

79. A=1{63, 72, 51, 44}
80. B={10, 11, 12, . . ., 20}
{3 ea x|xt =D .82
" {sy} = E 83
{c ).J. .o} =F 84
{CIls sae X9 N ) e x[x} = G .85

A learning outcome from the SoW Undisclosed Undisclosed
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Aliadll dasdl (o 50 Olao pe Olao pe
A learning outcome from the SoW Undisclosed Undisclosed
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